Number of Pages in Booklet : 32

Serial No, of 'Bookl"et |

et # qe3i W - | .

Number of Questions in Booklet : 70 Yf&iem wdh . 340 { 32 i
, gﬁawﬁsrwﬁm '

‘ » Economlcs

SubJect Codeﬁaﬂw 333 34
‘Roll No. of Candldate/a‘am'f EQl W
OMR Serial Numberlaﬂ TH.3TR. ShHIF : :

- Signature of Candidate/a‘{wﬁﬁ 33 TEEN ;
- Date of Exammatmnltrﬁ o ffér -

" Signature.of Inv1g11ator/5ﬁ gF W&T{

00000 0000000000000000000000000004rsosrcstectessasorstsontesernttony

§ 00000200000 00000004u0000000000500a0000000000000000a000ssrsorsdsobe

.....................................................................

....................................................................

Time/§74 : 75 Minutes/fHf g

1.

2.

3.

. 10.

11.

vCarrylng Mobile phone
 examination hall is strictly proh1b1ted. ,

Instructions
Answer all questions.
All questions carry equal marks.

In this booklet, the questions from
_serial no. 1 to serial no. 10 are related

to general awareness while questions
from serial no. 11 to serial no. 70 are

. subject specific.

Each question has four alternatlves

marked as (A), (B), (C), (D).

Choose only one alternative as an .

answer of a question.

If more than one answer is marked ,
then it will be treated as Wrong'
. answer. ]
Candidate has to darken only one circle

indicating the correct answer on the -

OMR sheet by using BLUEIBLACK
BALL POINT PEN.

. There is no provision of Negatlv

kmg
‘in the

If any objectionable material is also
found, then action will be taken as per
University norms.

Please fill your Roll No. and other
information carefully on OMR sheet.

~ In case of any mistake on OMR sheet, -
candidate will be responsible.

If there is any difference between
English and Hindi version of questions,

then English version shall be correct. -
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- Which of the following states sends

_ maximum MPs"-in the. Paf'rliament ._?
A) Tamil Nadu

B Bihar

| ,(C).'Uttarbl?’lfacyivesh .

() Rajasthan.

, A CfYOgenig- engine is used to launch
| - alan : |

(A) AerOplaﬂé

(B) Rocket

© Sgtellitg

(D) Missilé ‘

. ~Wh1ch fruit is grown in the largest

area m Indla ?
" - (A) Banana.
| (B) ‘Citrus
(C.)f Gu;ava ,‘ _/ |

(D) Mango

- 84-Eco.
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(A) Aeroplane 3

(B) Rocket

(C) Satellite

(D) Mi'ssilé
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4. Which country has the largést‘_

number of post-offices in the

world ?
“(A) China
‘éB) India
: €C) Germany
(D) Finland
5. Co‘mplefé the series.:
31, 29,‘24, 22, 17, eovorrn,
(A4) 15 |
' (B) 14  
© 13

D) 12

6. Deepu is brother of Aman. Neeta is

' sister of Shiva. Aman is son of Neeta.

How is Deepu related to Neeta ?

(A) Son .
(B) Brother
i(C)lNephew' |

| (D) Father
34-Eco.
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If “ROAST is ‘PQYUR 1n certam
code, the ‘SLOPPY’ 1s :

(A MRNAQN

(B) NRMNQAV o

(©) UNQRRA

(D) RANNMQ

‘: Antonym of word ‘EXPAND’ is.:

B (A) Convert

(D) Conclude o

: (,B) Condense
() 4Congest

Find the correctly spelt word -

._(A) Triggrd

- ® Trig'ered.f

~ (C) Triggered

10.

‘_ the statement

D). Trlgerred

Find the word wh1ch best expresses :

'»"One who devotes h1mse’If to

‘ pleasure _
(A) Sad1st :
(B) Platonic

- (C) Hedoriist

(D) Poetlc

34—Eco

felt %2 # i ROAST %! ‘PQYUR’

| .-fef@m % ?h ‘SLOPPY’T*’T faen

. (A) MRNAQN
@ NRMNQA
() UNQRRA

(D) RANNMQ

EXPAND #1 fareimew & :

_ (A) Convert

(B) Condense

.(C) COngest -

(D) Conclude -

.l o & W aﬁ ﬁfm
(A) Trlggrd

,‘ (B) ‘Trigered,

10:

(N Triggered '; ,'

i) Trigerred
Frfafem araz; & 1%111 m"lm e
o

.,.«.‘One who devotes hlmself to

pleasure

(&) Sadist
(B) Platonic .

 (O) Hedonist

(D) Poetic.
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©)

Economic goods are goods which :

(A) -oliéir the llawsv-of Qcéxioqiics
® are scarce and limited in supply
| (©) “aI;e "cvangible“ -

; (Dj are iavail'able 1n the economy
Which of the f;ollowiiring resﬁlfbs 1n a. '
, shiftihg of thev -(iem"an(‘i;cﬁrvq 2

- (A) An increase in the tax on '

: cigarettés leading to their fall
in demand.

(B)

“ television channel resulting in -

""a rise in the number of ads.

crackers due to heavy rains and

floods before Diwali.

| (D) A risé; in the electricity charges

~ leading to a lesser consumption

34-Eco.

) ’Slashing Qf‘ad rates by a .

Fall in the sales of Diwali
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14.

15,

Whlch of the followmg has the

7 lowest elast1c1ty of supply
(A) Luxury 'goods

®) 'Necessities /

Q__(C.) P'erishéble» goods |

(D) Itemvs that havé_ the lea_si:

budgetary allocation

When the income eléstiéit.y, of

demand for a: good is negative., the

good is :

(A) Normal good -

(B Luxury good

- (C) Inferior godd

D) Giffen good -

If margmal product is negatlve, it

" means that the :

- (A) Totalj.)roduct is af, Ihazﬁm_um '

(B) Average product is falling"

. . (C) Average produ_ct is at maximum

(D) Average product is negative

34-Eco.
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16. Which of the following curves is | 16, i & ¥ S % fAww I% Fa

alled envel rve ? |
called envelope curve S
(A) Long run total cost curve - o T
| o (A) <IehTef ®e T G
'(B) Long run average total cost o ' - . -
| | (B) <rderete olwm ot @@ 9%
curve C o . o

- (C) e W e a

(©) 'Long run marginal cost curve

(D) Long run average variable’| =~ D :’IEiE|5I§__ill Sl e T
cost curve . EED
17. Thg ?r}terseqtlon of the marginal cost 17. Hrar S o 3?]'{37’!‘{13 ST % FT
. curve and the average cost curve | = |
charaéterizes the point of : _ .
. ' (A) T ofga @

(A) Minimum average cost o

(B)W@ﬂm'maﬁ _-

(B) Minimum marginal cost

©) .Minimﬁm-proﬁt . o (C) = m‘q.zﬁ g |
(D) Maximum profit | ; D) A w9 Eﬁ.- .

- 34-Eco. . 8
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/

In the l.dng ru’r,i, :a perfectly

o 'competiﬁivé‘ﬁrm earns oniy normial

- (C) Free ehtry and exit of ﬁrms in :

19.

" (D) Both (A) and (B)

pi'bﬁts ‘because .of :

(A) Product homogeneity in the |

 industry - |

B

(B) Large number of selleré:ahd

- _buyers in the industry

.' the industry =

1In which of the following markets

' the consumer surplus will be high ?

!

(A) Monopoly

(B) MOnopolisﬁc competition

(0 .Oligopoly\

' (D) Perfect competition - |

- 84-Eco.
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. The marginal productivity theory of

distribution was propdunded by :

fq{A) J.B. Clark

g

. iB) Mrs. Joan Robinson

~ (C) David Ricardo

21.

22,

. (D) J M. Keynes '

In the Rlcardlan rent theory,

margmal land gives :

A (A) Maximum rent |
(B) Miniigum rent .
- © vac_qnomi.c rent
| (D) Zero ‘rer;t

The demand. for money fof -

~ speculative motive depends on

7‘(B), Current price

the :
(A) Ciirren‘f income

-

- '(‘C) Current rate- of interest |

(D) Quantlty of money

' 84-Eco.
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A\.' .

23,

24.

L B)

"Whicf; bée of the féllowiﬁg is not
‘{‘-_\s'toc_k variable 7 . '
(A) SaYing; |
| (B) National Incdme

'(C.) Moh.ey .SUPpb‘r e
* (®) Foreign Clirr,énc‘y Stock -
.,The ‘Per'sona'l ;/'incor’n’e is. eciuﬁl to :

A) N a't.:ib'n;}ll._' income — income

- earned but not received +
income received but not earned

National income — income

“received but not earned +
income earned but not received

(C) National income + income

- earned and received — transfer

- payments

(D) National income + i’ngome

received — transfer ‘payments

34—Eco.
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25. National income is equal to
(4) ' NNP at c;ur,rént prices — éﬁbsidy. :
.‘ | + Ipdiréct taXes |
(B) NNi’f at f;téfor coét -—‘ Subsidy
+ In(i/irect taies
(Cj NNP f‘t current prices — Indirect
‘tgxe-s + Subsldy |
- D) NNP :e‘tt current pr'ice:s -— Indirect
| taxes '; Subsid.y ‘
26, A deﬂator ‘is a technic.p.vle. of :
0N e_idjust'.ing fdf | cha'_ngé in
cqmmodiﬁigs ‘
~ (B) accounting for iricréase 1n GNP
. (C) accounting,fo‘r"‘decli‘neb in GNP

.34_—Eco.

D) adju_stin‘g for chan-g_eé m price

level

12

2:5..'Trw°l'qam’ama?%:

(A)mqaﬂmﬁmsl@r@am‘

'-—34':131?+3T§l?\‘1&135'{

’(B)Wmmgsmwm

'—?ﬂ'ﬂ,'q'ﬁ+31§l?~’1&?‘°ﬁ(

.‘(C)?TWL*'“&"W@W A

‘ —, AIIY -@W‘ + "313‘3-I=|

(D)a@ﬁnﬁmggu@am

26.

-—maaﬂ A

Wﬁm (Deflator) 7 i .

(@) 9 g # e # T

i

@« GNP q@ 1 a@-w,

r@aﬁ%’

(C) = GNP ﬁ mﬁ ST @f@—sﬁ'@m

Waﬁﬁ%

'(D)Gﬁaﬁnawﬁtrﬁaﬂ‘ﬁﬁ

mﬁaw%




27. ‘*(fMPs‘is 0.8, the value of multiplier 21. aﬁ:mﬁzﬂmwﬁros % a‘tw
,\Q‘S\Hbe‘: T “,wngaa‘rm

‘ (A)\\ 5

i
4

®z | ®2

@ws

(© 1;"25' Sl | 1 ,(C)., 1.25

© 25 o 25 .
. 28. In the.\c‘las'sviéal I.r.lddel”’ savi’ng.and\ 28 “Jﬁff%?{ TIT‘&'E ﬁ aaa 3ﬁ“{ ﬁﬁzﬁﬂ
| .. ihv‘estment are the _fuﬁétion of : - ﬁﬁf’@‘ﬁ@ﬂ | ﬁﬁﬁ?ﬁ w B % ?
' (A) ratev of~inter§st' ; | o (A) m EB'T -

(B)- rate of ii;tgifeSf and ihéome | (B) W Hﬁ ?R 3#{ I |

| (C) iﬁ_come' : _ N (.(‘3)“' 311?1 |

(D) prfic"e'-'_-': S - »V(D) Fied
29 Who.eStiimated for tﬁe first tir;e'the 1 29. ‘HRH ?ﬁ ITSZ'T?I 31T€{ W 313}11"'{ 'HT:{'HQW
Nation‘a‘l' Income ;in I_ndia ? . » a W amzn 2

WVERV.Re | @ "aﬁ.ﬁ.m.a?. uaer o
(B) Dadabhéi,Naoroji» . ) “ (B) ?{IET‘T@ Fasht %{.‘.’ |

(© 'Gopal Krishna,Gokhale . (C)me@r% |

[ Mahalanobls ] o TRy
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30. During stagflation :

31.

@)

" (B)

(O)

Prices .rise only .

Pl'ices, outpuf_ and emplo.ymerl_f
rise

Prices rise but no ihcreasein

output and employmeht :

D) Prices and »ouitput both rise

The accelerator measures :

(A) The effect of consumption on
investment
(B) The effect of investment on

consumption

(C) The effect of inv’éstment on

income

(D) The rate of growth of the

National Income

34—Ec‘o.
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32.

- 33.

34.

\Super multiplier refers to :

-1abour rises :

\) Budget multiplier
Money multiplier

(C) Capitai outpuvt_ratio :

(D) {nteractlon of the multlpher

ahd the accelerator '

If the margmal product1v1ty of | ,

(A) the wages Wlll come dov'vn _

, _:(B)"-t‘he level of Wag'eé' will go. up

(C) the wages will remain constant

(D) there is no relation with wages |
The correct sequence of the stages.

through which a trade cycle in an_

o econo’my passes is :

'34-Eco.

Dlsmﬂatlon

Depressmn

(0 Depressmn, Reﬂatlon, Inﬂatlon,

Dlsmﬂatlon

Reflation

o | (A) Depressmn, Inflation, Reﬂatmn,

'(B) Reflation, Dlsmﬂatlon Inﬂatlon, -

- D) Inﬂati(m, Depression, Disinflation, -

15
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35.. ﬂn the statement, “The conceptual

difficulties in National Income

Comparisons. between under-

developed and

countries are particul‘arly Serious

' because a part of the national
' Output in various underdeveloped

countries is p’roduced. without

passing through the c_ommerci;_al‘~

| ’c'hannels.”
that :

The author 'i_nip‘lies

- (A) the entire national output

_ produced and .consumed in.

“industrialised countries passes

through commercial channels.
(B) no part of national output
‘consumed Without passing
through commercial channels.
- (C) a part of ‘the national output
being produced and consumed

without passing through

‘commercial channels is a sign |

, '.of underdevelopment.
D)
commerclahsed

dlfferent

countries.

industrialized _

should be produced and

the existence- of a non-
sector in.

, under»deve'lop_edv
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- ©

)

s,

| (A) APC. d‘eclinés}fbu.t MPC rises.
: (B) APC increases but MPC

- D

Classical macro economic 'theory
‘concludes that the changes in |

_money supply aﬁ'écts :

(A) monetary variables ‘in the
- economy
real variables in the ecohor;iy i

variables |

neither monetary nor real
- variables
The Keynesian consumption

function explains that as income

increases :

. declines.
©)

constant

.constant

. 34-FEco.

Both APC and MPC remain

both thé._mOne.t'a'ry and'_ real | -

APC declines and MPC remains |

36. . uﬁrf&sawﬁznaaaﬁ%ﬁsmmm
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37.
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38.

39.

40

Wlfgen ‘

primary deposit

Rs! 10 OOO‘OO and reserve bratio is
, 20% then bank will create credlt

“amountmg to :
(A) Rs. 2,00000

(B) Rs. 40,000.00

(©) 'Rs. 50 000;00

(D) Rs. 100 ,000. 00

,The concept of 1nﬂatlonary gap

explalns :

(A) Stagﬂation

(B) Cost-push ‘inﬂétiOn, .

. (C) Demand pull 1nﬂatlon

(D) Fluctuatlons in prices

In hls theory of employment

: Keynes

(A) meglects ihdu'oed investment |

“(B) negleots aUtonomous,investment

(C) neglects consumption

- D) neglects'fs’z;l.vings :

84-Eco. -
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41.

Which one. of these qualities of

- money is essential before it can

_ perform any- of its functmns

(A) Acceptablhty - ’

(B) Stability in value

(C) D.urability‘

' v(D) Cogmzablhty -

42,

43.

In the demand function D 50 3P

slope is :
@ 50
® 47
() -3

© 3

M3 1s deﬁned as :

(A) Ml + demand depos1ts Wlth.

: banks

* '(B) M, + deposlts of post’ ofﬁces

34—Eco

savmgs bank

© M2 + time dep_osits of the banks

Lo D) M, + time deposits of commercial

banks

19

41
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(A) Eﬂ?ﬁl

A‘(B) T o ﬁﬂ'{ﬁT

‘V(C) ﬁasm

©) T

w1 we D = 50 - 3P @ 7@ ¥ :

A) 50
na

3

D'
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44.

45.

(A) NABARD

Actording to Keynes, there is

speculative demand for money,

beciause 3
(A) ' Peoi)le like t‘o speculafe in thé
étock Ir;arkef
(B)  Mbﬁey,at_ tiiﬂes, ma,y be a
'v"}:‘)étfer store of value than long-

~ term bonds

() 'Péople prefer 'c>ash

(D)AMone‘y always provides a

. )

certain highei‘ return than
long-term bonds -

Which of the folldwing is not a

- development bank ?

(B) Industrial Finance Corporation

of India -

(C) State Bank of India

_ ‘ (D) Export-Imporf Bank' of India

34—Eco.
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44, mémgﬂaﬁfﬁﬁ@ﬁnﬁﬁ

3, e

(A)mnﬁzﬁ‘wiﬂgmm

B) FH-F+0, T aw@rmm
ﬁaﬁwéqaﬁ@waﬁ%w
fodwht

.v.-._(C) AR TG T I TE]

T

) T W e aeE

T afwm ey

‘ﬁm A & i i & %2
W

| (®) s s - -
{C)‘emﬁw‘éézﬁ!f |

(D) wRdE sEm-frata 6



46. ~Cost push inflation occurs when the

aggregate :

(A) demand curve shifts rightwardv.'

(B) “"demand curve shifts leftward

(C) .supply curve shifts rightward

" (D) supply curve shifts leftward

47.

)

Under Statutory Liquidity Ratio

@A Commerc1a1 banks mamtain a |

 certain percentage of total |

. assets in liquid_. form

(B) 'Commercial-banmks 1i1aintain a

certain percentage of total 1

assets in cash
©)
percentag_e, of total ‘assets in

. liquid form '

N certain percentage of total

assets in cash w1th RBI

34—Ecq.

RBI maintains a certain

Commercial banks maintairi a

: | a7

21
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48.

49.

' Marshallian equation of Quantity k‘;

Main objective of selective credit

control is :

(A) to prevent speculétivé hoarciing,

of shares
of sensitive commodities
‘government sector

. seléct'ive‘ basis

If K = 0.10, O = 10,000 units and
-M=Rs. 12,000.00_, calculate average

price of a unit of output from .

theory of money ;-

(A) Rs. 1.20 .

(B) Rs. 8.33

- (©) Bs. 1200

(D) Rs. 120 00

' 34—Eco

- (B) to preirent sp‘ecﬁlative hoarding | .
" (C) to prevent bank credit to |-

‘v(D) to provide bank credit on i
| .

22
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50.

51,

. Which of the following ._securiti_es _

are traded in stock exchanges ? -

(A) Govt. securities
(B) First class secunt1es
‘(C) Listed secuntles -

(D) Unhsted\ secunt1esr |

Which one of the followmg is not a | 51»
_' cap1ta1 market mstrument 7 :‘

’ (A) Debentures o

- (B) Shares

52.

- 34-Eco. '

(C) Public Sector Bonds'

’(D) Treasury ’Bills R

~ “Inflation is unjust and deflation is §

inexpedient. Of the two perhaps

_-deﬂation _is the worse.” This yis the |

view of :

(A) J.M. Keynes .

(B) J.R. Hicks
(C) Marshall

: D) A._C. Pigoue

- 23

52.
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53. Which of the following is the least | 53, fr=1 & ¥ *d yfawfs 99@ 49

liquid asset ? | N ' 1 m )
(A) Money}:ﬁ_ &) T
(B) - Machines L -

| (B) weftd
(C). Shares R |

R R RO = |
(D) Bonds S _ : '
4 : (D) sfvgg '

54. The cash reserve ratio is determined | = - - BEA
by: - - | 54 TR Fuum fuifa e s E
(A) the.ma'rket forces =~ - : (A) SR w wRRE ® R
(B) the commercial banks (B) =mIfies ECofll FARy

(C) the govefnment_ : (C) THFR P T
‘(D)‘ the .I‘nonetary authority = '(D) "?!'W " —

55 Ba;fks crefate_ »cr(‘adlt : [ - ﬁtrfUT 3
(A). out of nothing - o -
e . A @ #F
(B) on the basis of their securities : S _ |
| L | 1 ® s gfayfel @ osmeR W)
- (C) on the basis of their total | e
K ’ | (C) o w@ wREEfeE ® MR-

assets
(D) on the basis of their cash | -
deposits L 1 D) aw—ﬁm el & 31"[?11'{ w®

- 84-Eco. = L S 24



' 56. When credit is to be expanded in the

. ©

- 57.

34-Eco.

. economy, the Central Bank : |

V _("A)“ buys securities in fhe open

market .
(B)
- market

increases Bank rate -
|

D)

increases the cash reserve ratio

Apex institution for financing sﬁ'xall J

. scale industries is : .
(A) IDBI

(B) SIDBI

(C) IFCI

sells securities in the open |

(D) NABARD

. 25
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- 58. _The "B'asell Committee on Bar‘iki'ng’\ '5’8. FfEn E‘th‘é’?ﬁ. {R HT@E ;_quﬁ‘
supervision is related to : o ..
(A) the problem of NPA in banks B E S RIS

R - | (A) F=i § NPA * guen 3

‘\(B)‘ the problem of capital adequacy | | Lo |
R | B ®) ¥ § g vatwar @ owwen
_in ‘banks ‘ ‘ 3 RO R
- (C) the problem of liquidity in

banks | (© ¥ wom o wn @

(D) the problem of managementin | ) &1 § e
banks | L T
- . | 59. wiferdt @1 SrEEl wE SR

'59. The fathér of ‘S‘i‘;atistics is called : | : | o |

e | (A) AR e
(A)' Lord Kelvin ' o

: R  (B) T W

(B) HG. Wells ' |

(C) Wallis and Roberts () fer Tl -TH

LI

(D) Gottfried Achenwall . (D) TewEE T

. 84-FEco. N




~ 60. The marks of nine students in a

47, 35, 37, 32, 38, 39, 36, 34, 35. |

Geography test are ngven below .

. Find the median of this set of aaté

values :

(A) 35

® 36

(O 37

) 365

61.

34<Eco.

.- extreme observ_a’ti(‘)'n's’ ?
(A) Arithméticméan _

- (B) Harmonic mean

(C) Mode

(D) Median

60, gl it A frartt ¥ frer o
a7, ;.35, 37 32, 38, .39,-:36,-,'34, 35.
_ﬁm — 3135316 W
f(Ap’357,_? |

(B) 36

- (©) 37

o o ] el
Which average is affected most by |

oiifeh. g e ¥ 2

~

(A) W A

(B) we WA

(O g

97

(D) Ao



62.

. 64.

The geometric mean of two numbers

'8 and 18 shall be :

(A) 11.08

when - :

I
o

il
e

(B) Poy x Pyg =
(C) Py; x Pyg < 1

Demand function is P =

Calculate -Margirial Revenue :
(@A) -1

- (B) 15

© 15-2Q

™ 15Q

34-Eco.

15 - Q

R R |
© 1
o ®) 15
| 63. ﬁ’.I"ime. Reversal Test is satisfied

28 . -

62.

QA HEm 8 IR 18 H AW HeA

&

(A) .11.08

- ® 12

63.

- (B). Py x Pyg

C) 13

® 15

ST T S # R

am

S
- -

(A) Py x Pyg =

]
"

(Cy)A Py x -Pl'o' <1

64.

_tﬁ‘nWP 15 Q%Hﬁﬁma;rmn '

ﬁmﬁﬁﬁr

@A -1
® 15_
(© 15 -2Q




65. -The theory of International Trade | g5 e forer g R T SRS SR
iven b Ad‘amb Smith is ba ed o | ' |
on : B : ' .
o Q) Yy A R W
(A) absolute 'differenee in costs o o N
S e o B T T aR R
(B) comparative difference in costs | o SR : 4

(C) both-comparative and absolute (C) o . \ﬁ-{ ﬁﬂ'ﬁ&T

difference: in_costs o | 1 T SR ﬁ“
(D) none of the ‘above SR (D)“o"qg?:ﬁ"{‘ ¥ frdt oo ad
- 66. Ye?t;cgl gqulty 11} _-the d;stnbuthn Py - st e N
' of tax burden can be best achieved | BRI o B
""by,adopting: \ ‘ s - :
(A) Proportional tax structure o . ’ o

| : R (B) VR AR W SRR
. (B) Regressive tax structure . : : DR

©) Deg‘ressive tax strﬁctu‘zfe, - (C)- 31’; l:"ﬁl. mg =TS9 :”35?

(D) Progressive tax structure D) lTTTﬁIQ'ﬁFT H E’FﬂT W

‘34-Eco. B



- 67.

68..

1
In India. the share of agriculture in
GDP has declined at a very fast rate

specially after economic reforms.

Thi;s‘is due to :

(A) Lack of diversification of rural
économy

(B)
agricultural commodities

(C) Saturation of employment

opporturiiﬁe's in the agriculture '

" sector

(D) Slow growth rate of agriculture
and fast gx_'ow_th rate -of other

sectors

‘Which one of the following is not an

objective of food managemént in.

India ?

0N Procurement of food grains from

- farmers at remunerative prices-

.(B) Distribution_of food grains to

34'—Eco.

cOnsumers

(C) Export of food grams to earn

forelgn exchange

(D) Mamtenance of food buffers for

food security -

Slow growth in the pri(;es of | -

67.

68.

30

WﬁGDPﬁ?ﬁmaﬁwﬁﬂﬂ-
m@aﬁﬁmgmﬂ%maﬁfaﬁawﬁ
¥ fro %, wow BRO R :

(&) T oo fafariawon

- %l AME

B) Ffo awqali ® wwdl § o

© Bt &9 # o s W
©) F F el 3fg a#har-q
& A dw 9fe T
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69.

- 10.

' registére_d the highest real growth .

, Whlch one of the fqlljowing\ types of
deficit accounts for the largest Sha,re- 1
in ébverﬁment of India buidget"? 1

@A) Bgdgeta;y deficit N

_(B) Revenue deficit

(C) Fiscal deficit
(DY Primary deﬁcit_ o

.Whi.ch of. thé fdllowing'plans has

rate in India ?

(A) Seventh Five Year Plan

~ (B) Eighth Five Year Plan

. (C) Tenth Five Year Plan

(D) Eleventh Five Year Plan

34-Eco.
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